\HOP J

R R R E Sk

HSCZ%I

T IRIEESL AR R TR

TR/ET

PATTTHROIE B RS
SRR T LARD R AT S
FTERFINPTIZL IR E RS
FTEEIRSER IR ERIORLE .

| mRsG

VR L

ETREE

AT (ERE)

R (EIRE)

R (IR )

FHE(TBSRR)

IR EE)
AEGER)

fEFBTR I BS. K (BE#H) ‘. o [Er/PUE
I{EESEE | 0~1.2MPa T (BERE) ,
FHRESED -100Kpa ( 10Torr) e " N =
TIEREEE | -10°C~60°C O (THEE)
BEEHE ( THERE )
| s ‘
Wi ((FEIREE )
f:j SBRHESLI (B2 )
LS
HSCO08 - 01 B - A
—L BHEIEE
A HESTRES
LM
ﬁggg%ﬂ% R: J&QTJIMLE%U
=)
A= ==}
B: =
BEFRY B we
BFRY NHEIRYT IR 55 HEETIRLL
fts 04 06 08 10 12 16 2| M3 | M5 | M6 | o1 | 02 | 03 | o4
Rd (mm)| 4 6 8 10 12 16 #8457 | M3x0.5 | M5x0.8 | M6x1.0 | R1/8 | R1/4 | R3/8 | R1/2

1. HESTmiEsl

2, BSTRES

EHENBSUREANTS | NELREATSEH

SR A A AR

=R

CJ

=E]z=p

5 : HSC08-02-A

ERMNELRHANES | MESUREATSE

LI AR,

% IR

[

5] : HSC08-02-R

HHR

www.haohuamall.com | 20




PR

HEEL
| HSC BREmLE

P i

E1l

NGIESES

| HSCF BpemEa

HSCZ7I

BE Eng T A | EL | B2 o MINLMAX P C [xfimH
HSC04-M3 M3x05 3 | | |28 | 30| 25| 27 8
HSC04-M5 M5x0.8| 3.5 28.5|30.5| 25 | 27 8
HSC04-M3 M3x0.5| 3 33.5|36.5 | 30.5 | 33.5 8
HSC04-M5 4 |M5x0.8| 3.5 | 20 | 12 | 34 | 37 |305|33.5| 11 | 15 | 8
HSC04-M6 M6x1.0, 4 345 |37.5|30.5 | 33.5 8
HSC04-01 R1/8 | 7.5 | 23 | 10 | 36 | 41 | 32 | 37 12
HSC04-02 R1/4 | 10.5| 25 |12.6| 43 [48.5| 37 | 425 14
HSC06-M5 M5x0.8| 3.5 |21.5| 85 | 28.5|30.5| 25 | 27 8
HSC06-M5 M5x0.8| 3.5 [21.5| 11 | 34 | 37 |30.5|33.5 8
HSC06-M6 ¢ [M6xL0 4 21.5| 11 |34.5|37.5|30.5|33.5 |1 L8
HSC06-01 R1/8 | 7.5 | 23 | 11 | 36 | 41 | 32 | 37 12
HSC06-02 R1/4 | 10.5| 25 |12.5| 43 | 485 37 |425 14
HSC06-03 R3/8 | 11.5| 27 |13.5|485| 54 | 42 | 475 19
HSC08-01 R1/8 | 7.5 |26.5| 12 | 36 | 41 | 32 | 37 12
HSC08-02 g R1/4 |10.5| 29 | 13 | 43 [485| 37 | 425 145 | 185 14
HSC08-03 R3/8 | 11.5|30.5| 14 |485| 54 | 42 | 475 19
HSC08-04 R1/2 | 15 | 33 | 16 |54.5| 60 |46.5| 52 24
HSC10-01 R1/8 | 7.5 | 29 | 14 | 36 | 41 | 32 | 37 12
HSC10-02 1o R4 105 31 | 15 | 43 | 485 | 37 | 425 85| 20 L1
HSC10-03 R3/8 | 11.5| 32 | 16 |485| 54 | 42 |475 19
HSC10-04 R1/2 | 15 |345| 18 |545| 60 |46.5| 52 24
HSC12-02 R1/4 |10.5| 33 |16.5| 43 [485| 37 |425 14
HSC12-03 12 | R3/8 | 11.5| 35 |17.5|485| 54 | 42 |475| 21 | 23 | 19
HSC12-04 R1/2 15 36.5|19.5| 54.5 60 | 46.5 52 24

B Efgb B1 B2 |y L vvalii C F1 F2 d
HSCF04-00 4 40 115 | 27 | 295 | 11 15 14 65 | 3.2
HSCF06-00 6 47 15 39 | 445 | 13 16 20 85 | 42
HSCF08-00 8 52 18 | 425 | 475 | 145 | 185 | 22 95 | 4.2
HSCF10-00 10 63.5 21 | 465 | 52.5 | 185 | 20 26 11 4.2
HSCF12-00 12 74 28 54 59 21 23 32 14 4.2

DT

— 09‘

@l

21 | www.haohuamall.com






